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1. (20%) Let in a macro. Economy, the relationship among consumption, { &
investment, government expenditure, tax revenue, real money demand and ki
supply as follows: |):
)
C =100+0.75(Y -T)-10R, I =350-20R, fjg
G =300, T =200+0.2Y, g
L =04Y ~20R, e B
P
Answer the following questions:
(1) How to derive the IS and LM equations;
(2) How to derive the equilibrium output and interest rate;
(3) If the government expenditure increase 60 units, calculate how many
increasing in the output;
(4) If the government expenditure increase 60 units, calculate how many
crowding-out effect affect the private economy.
2. (30%)
(1) Try to use the simple model to explain that why the open economic system
is more stable than the closed economic system in the simple Keynesian
economy.
(2) However, according to the recent experience, such as the Asia financial -
crisis in 1998, and the Russian financial crisis in 1999, the evidence show
that it is different from the above statement. Try to use the extended model
to explain it.
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